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This reference lets me see the Decimal, 
Hexadecimal, Octal and HTML for each 
character.  We will focus on Dec and Hex.

So A has a dec value of 65 and a hex 
value of 41.
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So A has a dec value of 65 and a hex value of 41.

Lets start with the hex value of 41.  If we take the hex 41 and convert it to 
binary we get 0100 0001
(remember the 8421 where for 4 we turn on the 4 and for 1 we turn on the 1)
so we now know that the binary for A is 0100 0001

Now lets look at B which has a dec value of 66 and a hex value of 42.  Hex 42 is 
0100 0010

C is hex 43 which is 0100 0011
I is hex 49 which is 0100 1001
J is hex 4A which is 0100 1010
K is hex 4B which is 0100 1011
O is hex 4F which is 0100 1111
P is hex 50 which is 0101 0000
Z is hex 5A which is 0101 1010

There is a pattern here.  The 010 at the beginning designates a capital letter.
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So now if I have an A I can figure out the 8 binary digits with what I know.  The first three binary digits are 010 
because it is an upper case letter and the last five binary digits are 00001 because it is the first letter of the 
alphabet.
01000001
So now divide into groups of four and you can get the hex.  0100  0001 is 41 because in the first group of 8421 
the four is turned on giving us 0100 and in the second group of 8421 the 1 is turned on giving us 0001.

The O is 010 and since O is the 15th letter, I have to look at 16 8 4 2 1 for the places and figure out that I need to 
turn on 8,4,2,1 to make 15 so I have 01111.  Putting these together I have 01001111.

The Z is 010 and since Z is the 26th letter, I have to look at 16 8 4 2 1 for the places and figure out that I need to 
turn on 16, 8, 2 to make 26 so I have 11010.  Putting these together I have 01011010.
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Now look at lower case a which has a decimal of 97 and a hex of 61

a dec 97 and hex 61 is translated to binary 0110 0001 (note that 
with the 8421 the 4 and 2 are turned on)

b is hex 62 which is binary 0110 0010
i is hex 69 which is binary 0110 1001
j is hex 6A which is binary 0110 1010
o is hex 6F which is binary 0110 1111
p is hex 70 which is binary 0111 0000
z is hex 7A which is binary 0111 1010

Again we see several patterns.  The first three characters are 011 
which appears in all lower case letters. 

So the first three characters of the binary tell the group such as 
upper or lower case or numbers and the right most 5 characters are 
telling which one.  Notice that the last 5 are the same for A and 
a, for B and b, for J and j, for P and p and for Z and z.

So if you get a dump of memory in hex you can turn it into binary 
and the use the first three characters to tell you want group it 
is in and the last five characters to tell which one.  
O or o is 01111 when we look at the last 5 characters so the 8,4,2 
and 1 are on which adds up to 15 and o is the fifteenth letter of 
the alphabet
Z or z is 11010 so that means the 16 is on, the 8 is on and the 2 
is on which adds up to 26 and Z is the twenty sixth letter.
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So now look at Decimal.  A is a decimal 65 so now we need to 
translate that to decimal. We do that by writing the powers of 2 
under each of the 8 binary bits.  See the examples below and you will 
see that if you translate decimal or if you transfer hex you end up 
with the same 8 bit binary code for the letters.

___ ___ ___ ___ ___ ___ ___ ___
128  64  32  16   8   4   2   1

This is A

  0       1      0        0      0       0       0      1    
___ ___ ___ ___ ___ ___ ___ ___
128  64  32  16   8   4   2   1

Z is 90 which is

 0    1   0   1   1   0   1  0
___ ___ ___ ___ ___ ___ ___ ___
128  64  32  16   8   4   2   1
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